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Center 418 MHz

Date: 3.DEC.2004

2 ms/

Time of one of the3rd largest pulse = 641.282565 uS
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Time of the Largest Pulse = 1.242485 mS
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Time of the Smallest Pulse = 440.881764 uS
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Time of the 2™ Largest Pulse = 841.683367 uS
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Plot showing the pulse does not repeat again before 100 mS
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Number of Small Pulses = 2 * 440.881764 uS = 0.881763528 mS
Number of 3™ Largest Pulses = 2 * 641.282565 uS = 1.28256513 mS
Number of 2™ largest Pulses = 8 * 841.683367 uS = 6.733466936 mS

1 Largest Pulse = 1 * 1.242485 = 1.242485 mS

Total time on = 10.140280594 mS
Total Pulse Width with Blanking Interval (up to 100 mS) = 100 mS
Duty Cycle = 10.140280594 / 100 mS = 10.140280594%




